1IGuzzini

2.510.626.03
1S14063/03

SUPPORTO MULTIPLO
ART. 6014 - 6015

IT N.B.: DURANTE L'INSTALLAZIONE DEL SISTEMA RISPETTARE SCRUPOLOSAMENTE
LE NORME IMPIANTISTICHE NAZIONALI VIGENTI.

EN N.B.: WHEN INSTALLING THE SYSTEM, MAKE SURE ALL CURRENT NATIONAL
REGULATIONS RELATING TO INSTALLATION ARE OBSERVED

FR N.B.: LORS DE L'INSTALLATION DU SYSTEME VEUILLEZ RESPECTER
RIGOUREUSEMENT LES NORMES EN VIGUEUR EN LA MATIERE DANS LE PAYS.

DE N.B.: BEACHTEN SIE BEI DER INSTALLATION DES SYSTEMS UNBEDINGT
DIE IM LAND GELTENDEN ANLAGETECHNISCHEN VORSCHRIFTEN.

NL N.B.: BIJ HET INSTALLEREN VAN HET SYSTEEM MOET U DE GELDENDE NATIONALE
INSTALLATIENORMEN STRIKT NALEVEN.

ES NOTA:DURANTELAINSTALACION DEL SISTEMARESPETARESCRUPULOSAMENTE
LAS NORMAS NACIONALES DE INSTALACION EN VIGOR.

pA N.B.: UNDER INSTALLATION AF SYSTEMET SKAL MAN N@JE OVERHOLDE DE
G/ELDENDE REGLER FOR DISSE ANLAG.

o N.B.: UNDER INSTALLASJON AV SYSTEMET MA DE NASJONALE
ANLEGGSFORSKRIFTENE OVERHOLDES NQYE.

Sv OBS! UNDER INSTALLATIONEN AV SYSTEMET SKA GALLANDE NATIONELLA
INSTALLATIONSFORESKRIFTER RESPEKTERAS | DETALJ.

RU MPUMEYAHME: B MPOLIECCE MOHTAXA CUCTEMbI CTPOIO COB/MIOJANTE
HALIMOHANbHbBIE AENCTBYIOWWE HOPMATVBbI MO 3NEKTPOMPOBOAKE.

ZHEE TR RO BHRASRITERS

APPLICATION:
A(:ﬁ::A' (?fmopRaé; MAXIWOODY IPRO | PALCO IN-OUT | PLATEA PRO
2

[——>

Gk

+art.

X548 1 f
X549 |
X728 .
+art.
X551 1) 9
X552
X729
@254 @254 2315 0192 | @83 (classi) (axb)
@313 3313 @ 260 (compact) 119 214 x 296
2368 2368 @137
@153
@ 116 (FRAMER)
@ 153 (FRAMER)
iT ATTENZIONE:

LASICUREZZADELL'APPARECCHIOE'GARANTITASOLO CONL'USOAPPROPRIATO
DELLE SEGUENTI ISTRUZIONI; PERTANTO E' NECESSARIO CONSERVARLE.

EN WARNING:
THE SAFETY OF THIS FIXTURE IS GUARANTEED ONLY IF YOU COMPLY WITH
THESE INSTRUCTIONS; REMEMBER TO CONSERVE IN A SAFE PLACE.

rr ATTENTION:
LASECUTIEDEL'APPAREILN'EST GARANTIE QU'EN CAS D'UTILISATION CORRECTE
DES INSTRUCTIONS SUIVANTES; IL FAUT PAR CONSEQUENT LES CONSERVER.

DE ACHTUNG:
DIE SICHERHEIT DES GERATES WIRD NUR DURCH SACHGEMASSE BEFOLGUNG
NACHSTEHENDER ANWEISUNGEN GEWAHRLEISTET; IHRE AUFBEWAHRUNG IST
DESHALB SEHR WICHTIG.

nL OPGELET:
DE VEILIGHEID VAN DI ATOESTEL IS SLECHTS DAN GEGARANDEERD ALS INDIEN
DE VOLGENDE INSTRUCTIES STRIKT WORDEN TOEGEPAST: DAAROM MOET MEN
ZE OOK BEWAREN.

es ATENCION:
LASEGURIDAD DELAPARATO SE GARANTIZASOLO CUMPLIENDO CUIDADOSAMEN-
TELAS SIGUIENTES INSTRUCCIONES; PORELLO, ES NECESARIO CONSERVARLAS.

DA BEMARK:
SIKKERHEDEN VED BRUG AF ARMATURET KAN KUN GARANTERES, HVIS DISSE
ANVISNINGER FGLGES; SORG DERFOR FOR AT GEMME DEM.

No ADVARSEL:
SIKKERHETEN TIL DETTE APPARATET GARANTERES KUN HVIS DU OVERHOLDER
DISSE INSTRUKSJONENE; HUSK A OPPBEVARE DEM PA ET TRYGT STED.

sv OBSERVERA!
UTRUSTNINGENS SAKERHET KAN ENDAST GARANTERAS OMDESSAANVISNINGAR
RESPEKTERAS | DETALJ. SPARA DARFOR DESSA ANVISNINGAR FOR FRAMTIDA
KONSULTATION.

RU BHUMAHVE:
Mbl FAPAHTUPYEM BE3OMACHYO SKCMNYATALMIO U3AENNA TONBKO NPU
COBJMOAEHWU CNELYIOLWMX MHCTPYKLII; C 3TOW LIENBIO HEOBXOAUMO
COXPAHUTb JAHHYIO BEPOLLIOPY.

ZH &%
HBRELBERS , BUTRERR ; HTRLHMKE.

g

OFFL—Y

AGORA' - MAXIWOODY - IPRO - PALCO IN-OUT - PLATEA PRO

\

ped

NO
HIT VERSION

max

A\
IT N.B.: La quota "d", é uguale alla distanza dagli oggetti illuminati.
EN N.B.: Measurement "d" refers to the distance from illuminated objects.
FR N.B.: La distance "d" correspond a la distance des objets éclairés.
DE N.B.: Der Wert "d" entspricht der Entfernung der beleuchteten Gegenstande.
NL N.B.: "d"is gelijk aan de afstand vanaf de verlichte voorwerpen etiket.
ES NOTA: La medida "d" equivale a la distancia con respecto a los objetos iluminados.
DA N.B.: Malet "d" er lig afstanden fra de oplyste objekter.
NO N.B.: Malingen "d" henviser til avstanden fra de opplyste gjenstandene.
SV OBS! Mattet "d" &r detsamma som avstandet fran de belysta féremalen.
RU MPWMEMAHE: (rwoTisy "d CoOTROTETORC ™ (AT LG 0T DEOMIE IR OfFh <TCE,

zn VR "o 1% £ B S B




IT %er le posizioni di installazione, attenersi a quelle illustrate, eventualmente contattare la
iGuzzini.

EN All installation positions must comply with those illustrated. In the event of any doubt,
contact iGuzzini.

FR Pour les positions d’installation, se conformer aux positions illustrées ; contacter la société
iGuzzini en cas de nécessite

DE Fir die Einbaupositionen die Abbildungen beachten. Eventuell iGuzzini kontaktieren.

NL Houd u voor de installatieposities aan degene die zijn weergegeven. Neem eventueel
contact op met iGuzzini

ES Respetar las posiciones de instalacion ilustradas y, en caso de duda, contactar con iGuzzini
DA For installationspositioner skal man holde sig til de viste, og eventuelt kontakte iGuzzini

NO %}r installasjonsplasseringene henviser vi til illustrasjonene, eller ta eventuelt kontakt med
iGuzzini

SV Félj de angivna positionerna for installationen. Kontakta vid behov iGuzzini

RU lMpu BbiGope NONoXeHns Anst MOHTaXa criedyeT o6paTUTLCS K MPOUNIIOCTPUPOBAHHBLIM
nmbo obpaTuTbCa B KoMnaHuio iGuzzini

ZH RENEBHFSERT , VEN A BKRiGuzzini

INSTALLAZIONE CON GLI ARTICOLI 6014 - 6015
INSTALLATION WITH ITEMS 6014 - 6015
INSTALLATION AVEC LES ARTICLES 6014 - 6015
INSTALLATION MIT DEN ARTIKELN 6014 - 6015
INSTALLATIE MET ARTIKELEN 6014 - 6015
INSTALACION CON LOS ART. 6014 - 6015
INSTALLASJON MED ARTIKLER 6014 - 6015
INSTALLATION MED ARTIKLERNE 6014 - 6015
INSTALLATION MED ARTIKLARNA 6014 - 6015
MOHTAX APTUKITEA 6014 -6015

5 6014-6015 P=JR%¥

[

Q@)
G @) ®

f e MAX N.
ART. (mm) [ (mm) Floodlights
6014 898 190 2

6015 1498 190 3

PER IL FISSAGGIO USARE TASSELLI AD ESPANSIONE CON VITI M8; IL TIPO DI TAS-
SELLO DA USARE (NYLON, ACCIAIO, A REAZIONE CHIMICA ....) E' DA SCEGLIERE IN
FUNZIONE DELLE CARATTERISTICHE DEL MATERIALE DI SUPPORTO (MURATURA,
CALCESTRUZZO,METALLO ....) SU CUI VIENE APPLICATO IL PRODOTTO.

FORATTACHMENT, USE EXPANSION PLUGS WITH M8 SCREW; CHOOSE THE TYPE OF
PLUG (NYLON, STEEL, CHEMICAL REACTION ....)ACCORDING TO THE CHARACTERI-
STICS OF THE SURFACE (MASONRY, CONCRETE, METAL ....)TO WHICHITISAPPLIED.

POUR LA FIXATION, UTILISEZ DES CHEVILLES A EXPANSION ET DES VIS M8,
LE TYPE DE CHEVILLE DEVANT ETRE UTILISE (NYLON, ACIER, A REACTION
CHIMIQUE ...) DOIT ETRE CHOISI EN FONCTION DES CARACTERISTIQUES DU
MATERIAU DE SUPPORT (MAGONNERIE, BETON, METAL ....) DU PRODUIT.

FUR DIE BEFESTIGUNG SPREIZDUBEL MIT SCHRAUBE M8 VERWENDEN; DER ZU
VERWENDENDE DUBELTYP ( AUS NYLON, STAHL, MIT CHEMISCHER REAKTION ....)
HANGT VON DEN EIGENSCHAFTEN DES BEFESTIGUNGSMATERIALS (MAUERWERK,
BETON, METALL ....) AN DEM DAS PRODUKT MONTIERT WIRD, AB.

VOOR HET BEVESTIGEN GEBRUIKT MEN EXPANSIEPLUGGEN MET SCHROEVEN M8;
HET TE GEBRUIKEN TYPE PLUG (NYLON, STAAL, CHEMISH REAGEREND ....) HANGT
AF VAN DE KENMERKEN VAN HET MATERIAAL WAAROP HET PRODUKT WORDT
AANGEBRACHT ( METSELWERK,BETON, METAL .... ).

PARA LA FIJACION UTILIZAR TARUGOS DE EXPANSION CON TORNILLOS M8;
EL TIPO DE TARUGO QUE DEBE USARSE ( NYLON,ACERO, DE REACCION
QUIMICA .... ) DEBERA ELEGIRSE EN FUNCION DE LAS CARACTERISTICAS DEL
MATERIAL DE SOPORTE ( MAMPOSTERIA, HORMIGON, METAL ....) EN EL CUAL DEBE
APLICARSE EL PRODUCTO.

FORFASTGORELSE SKALMANANVENDE RAWLPLUGS MED SKRUER@10.DEPLUGS,
DER KAN ANVENDES (NYLON, STAL, MED KEMISK REAKTION ....) SKAL VALGES UD
FRAMONTERINGSFLADERNES EGENSKABER (MURVARK, BETON, METAL ....) HVOR
PRODUKTET SKAL MONTERES.

FOR FESTE, BRUK EKSPANSJONSPLUGGER MED @ 10 SKRUE. VELG TYPE PLUGG
(NYLON, STAL, KJEMISK REAKSJON...) ETTER EGENSKAPENE PA OVERFLATEN
(MUR, BETONG, METALL...) SOM DE ER PAFQRT.

FOR FASTSATTNINGEN SKA EXPANSIONSPLUGGAR MED @ 10 SKRUV ANVANDAS.
TYPENAVPLUGG (NYLON, STAL, KEMISK REAKTION O.S.V.) SKAVALJAS BEROENDE
PADETBARANDE MATERIALETS EGENSKAPER (MURVERK, BETONG, METALLO.S.V.)
DAR PRODUKTEN APPLICERAS.

uﬂﬂ KPENMEHHA MCNONE2YHTE PACWHWPHTENLHEIE BHNADEILM £ UMYEYAMA

B; TAMWENOMbIYENCTD BKNANDILA (HEWNOH, CTANL, C XAMWHECKDN PEA
KLIHEIH .| BRIEWPAETCS MO XAFAKTEPUCTUKAM MATEPWANA OCHOEBAHIA, K K
OT?EOI.H" KP‘SI‘IHTCH CHETEMB! (KAAOKA, EETOH. METAMN.. ). K KOTOROMY KFE
MUTCRA NFUBDR.

2FHmEN. EREweR ke FlEfRrEm e B8t AR
MR F TR BE W (hEE




MAXIWOODY - IPRO

-AGORA'’

MAXIWOODY - IPROI

(MAXIWOODY)

4|

3 x 50°

N°2
M10 X 20

=S =
S ©

AGORA'

N°2
M10 X 20

g
S&

slim & compact

-
B o

-
2254
2313
2368

AGORA'
slim & compact

~Q® " @ F D
! 1
| | 1 1 1
I D1 1
.v ’-/
1 1 | | —
10 1 o ! o Q1 o
o @ o & o.1®
- @9 E K E
37 mm 33 mm 37 mm 33 mm ‘37 mm 33 mm
NO NO, NO,
1 1 11 1
1 \ 1 ;
&2 :
\—'/ \-/
/ 1O \ o S o s o
SO S /&SN
o) () o () o
‘37 mm 33 mm ‘37 mm' 33 mm 37 mm' 33 mm




IT
EN
FR
DE
NL
ES
DA
NO
sV
RU
ZH

MAXIWOODY I

**1 00

*orientamento consentito - **orientamento non consentito
*direction allowed - ** direction not allowed

*orientation possible - **orientation impossible
*Ausrichtung méglich - **Ausrichtung nicht moglich
*toegestane richting - **niet toegestane richting
*orientacion permitida - **orientacion no permitida.

* Korrekt placering - ** Forkert placering

*tillatt dreining - **ikke tillatt dreining

*omrade som kan belysas - **omrade som inte kan belysas

*HANPIONEHHOCTL AOMYCKAETC - * HANPARNCHHOCTE HC QONYCHACTCH

SRR - TR IEEH E

EN
FR
DE
NL
ES
DA
NO
sV
RU
ZH

IPRO I

**1 50

*orientamento consentito - **orientamento non consentito
*direction allowed - ** direction not allowed

*orientation possible - **orientation impossible
*Ausrichtung méglich - **Ausrichtung nicht moglich
*toegestane richting - **niet toegestane richting
*orientacion permitida - **orientacion no permitida.

* Korrekt placering - ** Forkert placering

*tillatt dreining - **ikke tillatt dreining

*omrade som kan belysas - **omrade som inte kan belysas

*HANPEENEHHOCTL A0MYCKAETCH - **HANPABNCHHOCTL HE AONYCKACTCH

RIS v TR AT

AGORA' I

IT *orientamento consentito

s N
EN direction allowed

- . .
FR orientation possible C

DE ‘Ausrichtung méglich

“ ichti *

NL toegestane richting )o

ES *orientacion permitida
N .

DA Korrekt placering

NO tillatt dreining 2

N .
sV omrade som kan belysas

RU “HANPHONEHHOCTL O0NYCTEASTCA

ZH * A3

\\N
o0Lx
>

e e NG

PALCO IN

IT Per esigenze di collaudo, il prodotto é stato munito dei cavi indicati in figura.
N.B.: Asportare tali cavi prima di effettuare il cablaggio del prodotto.

EN In order to test the product, it was fitted with the cables indicated in the figure .
N.B.: Remove these cables before wiring the product.

FR Pour des nécessités d'essai, le produit est fourni avec les cables indiqués dans la figure.
N.B.: Enlevez ces cables avant d'effectuer le cablage du produit.

DE Aufgrund von Prifungserfordernissen wurde das Produkt mit den auf der Abbildung er-
sichtlichen Kabeln bestickt.
N.B.: Diese Kabel sind vor der Verkabelung des Produkts abzunehmen.

NL Zoals voordekeuring vereistis het product voorzien van de in de afbeelding aangegeven kabels
N.B.: Verwijder deze voordat u het product gaat bedraden.

ES Debido a exigencias de ensayo, el producto ha sido provisto de los cables indicados enlafigura,
NOTA: Extraer dichos cables antes de realizar el cableo del producto.

DA Med henblik pa afprevning er produktet forsynet med ledningerne, som vist i figuren.
N.B.: Disse ledninger skal fiernes, inden produktet tilsluttes.

NO For a kunne teste produktet, ble dette montert med kablene som indikeres pa figuren.
N.B.: Fjern disse kablene fgr produktet installeres.

sv P& grund av provkérningsskal har produkten forsetts med kablarna som indikeras i figuren,
OBS! Ta bort dessa kablar innan ledningsdragningen for produkten gors.

RU Ans TecTpoBanns Npubop ocHalleH NpoBoAamMM, NokasaHHLIMW Ha cxeme.
OTcoeanHnTe 3TV NpoBOAA Nepes MOHTaXoM kabenenposoaku npubopa.

ZH DRNFE , FRES T BRARN S,
AR AERERE  FEXEas,







PLATEA PRO small

art. X415 A
N°2 N°2

@A@’
Z

small large

N
o
=

i

o

0}

(]
o
)

’
0
\

//

10--6--6---0
3
¢

IT Per il cablaggio elettrico fare riferimento al foglio istruzioni del prodotto.
EN Please refer to the product instruction sheet for the electric wiring.
FR Pour le cablage électrique, se reporter a la notice d'instructions du produit.

DE Informationen zur elektrischen Verkabelung kénnen Sie der Montageanleitung des
Produkts entnehmen.

NL Voor de elektrische bedrading raadpleegt u het instructieblaadje in het product.

ES Para el cableado eléctrico hagase referencia a la hoja de instrucciones del producto.
DA Indhent oplysninger om ledningsferingen i produktets vejledning.

NO Vennligst se instruksjonsarket for produktet for den elektriske kabelfgringen.

SV Angaende kabeldragningen, se produktens instruktionsblad.

RU Mopsigok MoHTaXa 3nekTponpoBOAKU CMOTPUTE B UHCTPYKLMSIX K MPOAYKTY.

ZH #3if% , HSRAFREAR.

Headquarters iGuzzini illuminazione spa
via Mariano Guzzini, 37 - 62019 Recanati Italy



